
Grade 8 – Science Answer Key 
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Reporting 
Category 

Readiness 
and 

Supporting 

1 
Match Table 

Grid 
4.7.14.B 2 

 Asexual 

Reproduction: The 

parent plant 

produces offspring 

by using runners. 

The offspring are 

identical to one 

another. 

Sexual 

Reproduction: The 

offspring can have 

two parents. 

See Appendix 1.1 

4 Supporting 

2 Multiple Choice 4.7.14.C 1  B 4 Supporting 

3 Drag and Drop 4.7.14.C 2 

Genes are found in 

chromosomes, 

which are 

contained in the 

nucleus of a plant 

cell. Genes control 

which traits are 

inherited by the 

strawberry 

daughter plants. 

See Appendix 1.2 

4 Supporting 

4 Inline Choice 2.6.9.C 2 

The plant absorbs 

light energy from 

the sun. This 

energy is converted 

into chemical 

energy. This energy 

is stored within the 

plant in the form of 

sugars. 

See Appendix 1.3 

2 Supporting 
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Grade 8 – Science Appendix 
1.1 

1.2 

Determ ilile wheth er the statemelil ts in th e table describe a 
characteristic of asexual reproduction or sexual reproduct i1on ilil 

strawberry p ants. 

Select the cor rect a lil swer in each row. 

Statement 

The pa rent p lant 

produces offspring by 
usmg, runners. 

The offspri1ng a re 

ident ica l to one another. 

The offspri1ng ca li1 have 
two parents. 

Asexual 
Reproduction 

Sexua l 
Reproduction 

What role do genes p lay ilil determining 1i:he tra its found in the 
strawberry daughter p lants? 

Move t he correct answer to each box . Nolt a ll an swers can be moved 
t o all boxes. 

  



 



 

----------------------- ----------
Genes a re found i li1 [ __ ~ ~ ~~~ ~~~-~-~ ~~----------] , which a re conlta in ed 

! in the nucleus 
---- -- -- -- ------------------ -----! inherited by I 

I 
I 

,_ ---------------- ---------------_, 

of a plant cell. Genes control wh ich trnilts are 

t he strawberry daug,hlter p lants. 



1.3 

 
 

How does energy change form dur ing the process of photosynthesis 
so that the daughter plant can grow? 

Choose t he correct answer from each drop-down menu to complete 
the statem ents . 

ThP. p lri n t rih,:;orhs I lig ht P.nP.rgy ~J from thP. s1in . 

 
This energy is convert ed into I chem ical energy 

 
This energy is I stored within 

sugars . 
~ J the plant in t he form of 
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